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FA AR LLIAT 708 785 878] 1,663
AL BB LLIET 1,055 1,219 1,340] 2,559
JLEEHT 2,324| 2,707| 2997 5,704
HEBCHT 40 38 56 94
FEZE B CIHT 21 27 40 67
& <FHT 46 65 60 125
PHER & SFHT 37 41 42 83
FiENHT 562 627 671] 1,298
75 £718 N ET 115 91 111 202
b8 A BT 22 30 36 66
ako0=1: 30 38 44 82
B aET 31 39 38 77
1 HT 49 59 81 140
A HT 57 72 74 146
ZEHT 51 48 65 113
HMEFRET 42 44 41 85
F T 49 75 79 154
= RHT 43 40 50 90
R ET 31 40 42 82
Eoikanlidl 36 36 48 84
SR T 66 71 89 160
Hea BT 42 61 59 120
S FHHET 53 47 61 108
N 199 226 257 483
= A BT 1,075| 1,171 1345 2516
= H O 82 82 99 181
Fift = HT 13 14 14 28
it EHT 96 88 108 196
EHT 20 22 22 44
= EHT 46 54 56 110
H—TH 35 25 25 50
HWM=TH 25 36 31 67
HM=TH 87 92 108 200
HMmTH 34 39 41 80
HMATH 67 69 72 141
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HI<TH 75 76 85 161
A=HT 32 28 31 59
iF SR = BT 50 63 62 125
L X THET 51 50 47 97
BRI HT 122 83 112 195
HNET 848| 1,108] 1,175 2283
B [E T 103 126 119 245
75 it BT 231 256 271 527
FAHT 235 328 351 679
K HETE 42 53 62 115
W & BT 126 155 168 323
NEFErHT 230 222 265 487
KEHT 117 114 151 265
39 AL BT 230 264 291 555
HiE H5 T 72 79 105 184
KIEET 23 27 24 51
% R T 9 10 13 23
e LLI BT 272 290 296 586
b, B T 68 68 77 145
7k B2 SFHT 150 168 191 359
i [ T 87 105 119 224
=k 556 550 667 1217
Y, e T 210 212 242 454
LT 426 473 511 984
[/ Et) 11,654 13,126 14,615 27,741
21 - ET 1,956 2270 2489 4759
7% T 78 100 97 197
FZHT 123 163 160 323
AR EHT 189 214 230 444
X 3BT 152 169 205 374
[/ Et) 2,498 2916] 3,181 6,097
% HHET 1,021] 1,229] 1.234| 2463
Yk T 795 1,001| 1,061| 2062
541 BT 105 137 156 293
FHT 1,217] 1,506] 1,639] 3,145
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LI FH BT 229 281 280 561
% H 1L BT 1,207| 1,396 1542| 2,938
FHHET 615 718 767 1,485
SR Ji7 ET 869] 1,086] 1,141 2227
[/ &) 6,058 7,354| 7,820| 15,174
L =1EHr 62 94 100 194
T =488 970| 1,095 1,269 2,364
gl 1,050] 1,211 1403| 2,614
= HRET 271 358 381 739
KiTHET 35 55 60 115
= B Ey 21 23 22 45
F F EPHT 115 172 197 369
XiRERT 425 471 413 884
[/ Et) 2,949 3479| 3845| 77324
12 H BT 193 253 272 525
A BT 46 64 78 142
=] 342 351 433 784
F ST 72 101 120 221
A 3k T 38 61 55 116
5L HT 217 303 326 629
L1 BT 36 56 68 124
FE L KHT 58 95 86 181
# AT 66 100 106 206
[/ Et) 1,068| 1,384 1544| 2,928
K& <FHT 115 125 153 278
J\SEHT 141 204 234 438
Gi: 2N 120 146 173 319
5 ElFFET 754 852 829 1,681
=T 187 208 261 469
iz 51 62 72 134
FaHT 114 146 153 299
th SR ET 372 460 446 906
5 =1 HT 434 505 506] 1,011
X8 FH &R <F AT 23 28 40 68
8 H &R F AT 45 50 68 118
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6 FH &R AL BT 1,057 1,346 1437| 2,783
BR F0HT 66 76 86 162
[/ Et) 3,479| 4208] 4458] 8,666
/N SRHET 4,580| 5285| 5777[ 11,062
INFRET 1,035 1,266 1312| 2,578
it Fa T 563 686 722 1,408
AT 329 369 389 758
=2 T 54 76 74 150
/NER T 360 489 499 988
ith 2z PN ET 145 176 167 343
A Fh T 210 312 317 629
Jiti [58 =F HT 327 406 421 827
78 FH P ET 467 495 525 1,020
INRETER—TH 116 119 150 269
INRETER_TH 160 157 161 318
INRETER=TH 217 274 308 582
INKETEE—T B 26 26 27 53
INKBTFEZT B 52 66 73 139
INKBTEE=T B 79 90 81 171
[/ Et) 8,720/ 10,292| 11,003 21,295
[ 5t ] 36,426 42,759| 46,466| 89,225
CANEIPN SN 438 388 400 788
(& Ef) 36,864| 43,147| 46,866 90,013




